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Abstract

A Chinese word “&4 (zenme)” in questions has some translations such
as “how” and “why”. The authors made a Chinese-English translation
system to determine the suitable translation of “%&4 (zenme)” in questions
according to the usages. It generates a set of rules to determine them
automatically, by decision tree learning.

Training data and testing data are manually made. They are 309
sentences and their features, values and the results. The authors used
binary tree and C4.5.

The accuracy of the system was 99.7% and the decision tree derived
from experiments is almost the same as the decision tree that are made
manually.
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